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class POINT —— Version 1
feature —— Attributes

feature —— Constructors
make cartisian(nx: REAL;

do
X = NnNX
y = ny
end

end

nx: REAL)

class POINT ——- Version 2
featureﬂMMﬂAttributes

r : REAL
p : REAL
feature - Constructors
make_polar(nr: REAL; np: REAL)
do
ro:=lpr
p = np
end
ure - Queries

REAL do Result
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rxsin(p) end
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test_points: BOOLEAN
local ﬁ
—>,_4, X, Y: REAL < L/
pl, p2: POINT N 2a-cos30° = [q V3 7 o=
do T T é(};
comment("test two systems of points") m|
=@ -G x :- 0. mls
create {POINT} make artisiap (X, Y) < NG i
crea!e {POINT} 'make Qolar 5@ ><A, \%_71' >\ =)
—> Result :=@ x =(p2.Xx and pl y = p2 v~ ( '
AAN—~—— - 2. nT ft
end l . - l (\’7 m%
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SRC STATE

CHOICE

1 (Initial)

2 (Flight Enquiry)

Seat Enquiry)
4 (Reservation)
5 (Confirmation)
6 (Final)
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| Seat_Enquiry.panel: er"a“°" 3 22
M ro ‘Qt\ \‘ —
1= Display Seat Enquiry Pa ‘/
A= s \

unt
not (wrong answer or wrong choice)

do
—>Read user’s answer for current panel

._>Read user’s choice ‘D for next step
if wrong answer or wrong choice then
Output error messages

A ¥ end
(A rmation_panel: end
tions for Label 5. ,
Process user’s answer

in

\ goto 2. Flight_Enquiry_panel

erva tion_pa
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(s¥c: INTEGER; choice: INTEGER): INTEGER

valid source_state: 1 < src < 6
valid choice: 1 < choice £ 3
ensure valid target_state: 1 < Result < 6

state by taking transition ’choice’ from

/f—)./~kﬂ/ (‘t
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tovStel (352)
Taston Thle K- AN% Iy@m@«fa’cﬁb
CHOICE 1 3 choice
SRC STATE | 5 2 3
— /\1" 6 5 2
1 (Initial) 6|52 -
2 (Flight Enquiry) -111]3 2 1 3
(3)seat Enquiry) - @ L 2 4
4 (Reservation) - 13|95 4 3 5
5 (Confirmation) -4 |1 5 4 1
6 (Final) - | = | - p
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—> current_state

end

until

is_final (Current_state
do

choice :=

current_state ransition —state, choice)
end

Level 3 (| (execute
session
Level 2
initial transition is_final
Level 1
execute_session display read correct message process
—-— Execute a full interg
local
current_state , choice: INTEGER
do
from
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INTEGER) QTEGEV

execute_state ( urrent state

Handle interaction at the current state.
—-— Return user’s exit choice.
local
answer: ANSWER; valid _answer: BOOLEAN; choice:

——

Are))

until > \
do ™S >

N
Ff);‘hoice := read.choice (

_avalid answer := correct ((current_stateg answer)
correct
valid_answer then(messagg( gdrrent_state)

=

’cliFgfrom ﬂé%/g/ oMwent

,_71f not answer)
ena

( Current_state), answer) L 13 execute

. :/; eve ute_

: choice session

end
Level 2
initial transition % is_final
Level 1
display read correct message process




